## **APPENDIX 2**

## **Recommended Signage, Implementation Phases, and Cost Estimates**

Sign Type	Current Design	Proposed Design	Phase	Quan	Price	Total Cost
Building Monument (refurbish)	CLAYTON STATE UNIVERSITY	James M. Baker	1	16	\$3,100	\$49,600
Building Monument (new) Lucy Huie Hall and Science Building	UNIVERSITY CENTER AND LIBRARY	University Center	1	2	\$8,300	\$16,600
Secondary	None	Ecgewater Hall  Admissions  Admissions  Career Services  Career Services  Courseling Services  Courseling Services  Courseling Services  Courseling Services  Poental Circle  Financial Aid  Cortentiation  Public Safety  Registrar	1	2	\$2,000	\$4,000
Entrance (Vertical)			2	3	\$2,000	\$6,000
			1	2	\$2,000	\$4,000
Secondary Entrance (Horizontal)	None	Laboratory Annex Building	2	1	\$2,000	\$2,000
			3	4	\$2,000	\$8,000

Sign Type	Current Design	Proposed Design	Phase	Quan	Price	Total Cost
Street Sign		Caldwell Drive	1	9	\$400	\$3,600
		3	8	\$400	\$3,200	
Vehicle Direction (refurbished)	CLAYTON STATE UNIVERSITY To HWW54 Main Entrance CSU East	→ To Highway 54 → Main Entrance → CSU East	2	17	\$800	\$13,600
Vehicle Directional (new)			1	8	\$2,000	\$16,000
Parking Lot (refurbished)	STATE UNIVERSITY PARKING G STobacco Free Campus	Parking Central 2 Tebacco-free Campus	1	19	\$800	\$15,200

Sign Type	Current Design	Proposed Design	Phase	Quan	Price	Total Cost
No Parking (Spivey Hall Entry Circle)	B	R	1	1	\$200	\$200
Parking Designation (refurbished)	Student Parking Only with Valid Permit	Faculty Parking Only with Valid Permit Laker Hall Parking Only with Valid Permit Parking Only With Valid Permit Parking Usolators Will be Towed	1	133	\$200	\$26,600

Sign Type	Current Design	Proposed Design	Phase	Quan	Price	Total Cost
Pedestrian (refurbished)	CLAYTON STATE UNIVERSITY → Athletics → Spivey Hall → Continuing Education ↑ University Center ↑ Welcome Center ↑ Student Services ↑ Public Safety ↑ Main Campus	Athlets     → Athlets     → Spivey Hall     → Continuing Education     ↑ University Center     ↑ Welcome Center     ↑ Student Services     ↑ Public Safety     ↑ Main Campus	3	12	\$800	\$9,600
Kiosk (repaint black)			2	3	\$700	\$2,100
Kiosk (purchase new,		No design change, painted black	1 (SAC)	1	\$3,500	\$3,500
painted black)			3	1	\$3,500	\$3,500

Sign Type	Current Design	Proposed Design	Phase	Quan	Price	Total Cost
Irrigation	CSU SUSTAINABLE PRACTICES CAMPUS IRRIGATION SUPPLIED BY RETENTION POND WATER	CSU SUSTAINABLE PRACTICES CAMPUS IRRIGATION SUPPLIED BY RETENTION POND WATER	3	4	\$100	\$400
Slippery When Wet	SLIPPERY WHEN WET	SLIPPERY WHEN WET	3	6	\$100	\$600
Do Not Feed the Geese	DO NOT FEED THE DUCKS	PLEASE DO NOT FEED THE GEESE	3	4	\$400	\$1,600
Lamp Post Banners	None	2-10° 2-50° 2-	1	16	\$160	\$2,560

Sign Type	Current Design	Proposed Design	Phase	Quan	Price	Total Cost
Breathe Easy Banners	None	Recentive Leasy recursively	2	10	\$120	\$1,200
Perimeter Monument	None	Welcome to Clayton State University	2	2	\$2,500	\$5,000

Sign Type	Current Design	Proposed Design	Phase	Quan	Price	Total Cost
Perimeter Vehicle Directional Signs PV1 - PV8 on Perimeter Vehicle sign map	None	SOUTH ENTRANCE Situdent Activities Center Continuing Education	1	8	\$2,500	\$20,000
Entrance Gate (South)	None	BOUTH ENTRANCE	3	1	\$3,500	\$3,500
Modifications to HWY 54 Entrance Signs	None		2	1	\$12,000	\$12,000
Install new Gate entrance at Harper Drive	None		3	1	\$20,000	\$20,000

Sign Type	Current Design	Proposed Design	Phase	Quan	Price	Total Cost
Clayton Station Entrance Sign	None	Clayton Station	1	1	\$1,500	\$1,500
Clayton Station perimeter	None	Clayton Station Apartments	3	4	\$600	\$2,400
Directional signs to CSU East Entrance	CSU		2	7	\$60	\$420
	EAST 	East Entrance	2	1	\$200	\$200

Sign Type	Current Design	Proposed Design	Phase	Quan	Price	Total Cost
Clayton State University East Entrance Sign	CLAYTON STATE UNIVERSITY - EAST Stormed Bud Stormed CLA Store	EAST ENTRANCE 5623 Taurmet Road Morrow GA 30260	1	1	\$1,500	\$1,500
Lucy Huie Vehicle Direction Sign (Tara Blvd)	Clayton State University Lucy Huie Hall Film Studio	No design change.	2	1	\$800	\$800
Guard Station visitor assistance sign; Open/Closed sign	None	TBD	1	1	\$300	\$300
Guard Station map box	None	TBD	1	1	\$200	\$200

Sign Type	Current Design	Proposed Design	Phase	Quan	Price	Total Cost
Central Receiving	None	Central Receiving	1	1	\$300	\$300

Total cost estimate: \$261,780.

Cost estimate by project phase:

- Phase 1: \$165,660
- Phase 2: \$43,320
- Phase 3: \$52,800